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Progress computation issue for versions with subtasks
2012-05-22 11:11 - Evolis BE-Soft

Status: New Start date:

Priority: Normal Due date:

Assignee: % Done: 0%
Category: Issues Estimated time: 0.00 hour
Target version:

Resolution: Affected version: 1.4.0
Description

For a given version (says R1), | define a task A with two subtask A.1(2h) and A.2(8h).

When A.1 is done, the progress bar value is 10%
Then if A.2 is done, the progress bar value is 50%

| calculate the issue done ratio with the issue status and done = 100%
It appears that progress computation should not take care of parent estimated time.

History

#1 - 2012-05-25 19:09 - Jean-Philippe Lang

- Subject changed from Progress computation issue to Progress computation issue for versions with subtasks
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